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Transcript length (bp)

F
re

qu
en

cy

0 20000 40000 60000 80000

0
50

0
10

00
15

00
20

00
25

00
30

00
35

00



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●●

●

U
H

R
_1

U
H

R
_2

U
H

R
_3

H
B

R
_1

H
B

R
_2

H
B

R
_3

0

5

10

15

Distribution of FPKMs for all 6 libraries

lo
g2

(F
P

K
M

)



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●
●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

●

●

●

●

●

●●●●●●●●●●●●

●

●●●●

●

●●●●●

●

●

●

●

●

●

●

●

●●●●●

●

●

●

●

●●●●● ●●●●● ●

●

●●●

●

●

●●●●●●●●●●●●●●●●●● ●●●●

●

●●

●

●●

●

●●●●●●●

●

●

●

●

●

●

●

●

●

●

●

●●●●●

●

●

●

●●●●

●

●

●

●

●●

●

●●

●

●

●

●

●

●●●●●

●

●

●

●●●

●

●●

●

●

●●●●

●

●

●

●

●

●

●●●●●

●

●●●●● ●

●

●●●● ●●

●

●●

●

●●●●●

●

●●

●

●

●

●●●●●●●●●●

●

●●●

●

● ●

●

● ●●●●●●●●

●

●●●●

●

●●●●●

●

●●●●

●

●●●●

●

●●●●●●● ●●●●

●

● ●●●●● ●● ●● ●●●

●

●●●

●

●

●●●●●●

●

●●

●

●●

●

●●●

●

●●●●●

●

●

●●●

●

●● ●●

●

●

●

●

●●● ●●●●

●

●●●

●

●

●●

●

●●●

●

●●●●●●

●

●●

●

●

●

●

●

●

●●●●●●●●●●●●●●

●

●●●● ●●●●●

●

●

●

●● ● ●●● ●●●●●●●●●● ●●●●

●

●

●

●

●

●●●●●●● ●

●

●●●

●

●

●●●●

●

●

●

●●●●●●●

●

●

●●●

●

●●

●

●●●●

●
●

●●●●●●●

●

●●●●●●●●

●

●●●●

●

●

●●

●

●●●●

●

●

●●●●

●

●

●

●

●●

●

●●●

●

●

●● ●●

●

●

●

●●●●●●●●

●

●

●

●●●●●

●

●

●●●

●

●

●

●

●

●

●

●●●●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

●

●

●

●

● ● ●●●●● ●●●● ●●

●

●

●

● ●●●●●●●●●●

●

●●●●●●●●●

●

●

●●●●●●●●●●●●

●

●●●●●●●●●●●●●●●●●●●●●

●

●●

●

●

●

●●●

●

●

●

●

●

●●

●

●●●●

●

●●●●

●

●●

●

●●

●

●●●

●

●●

●

●

●

●

●

●

●●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●● ●●

●

● ●

●

●●●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

●

●●

●

●
●

●●

●

●

●

●

●

●●●●●●

●

●

●

●●

●

●

●●

●

●

●

●

●

●

●●●●●●

●

●● ●●

●

●●

●

●●●

●

●

●

●

●

●●●

●

●

● ●●●

●

●●

●

●

●

●

●

●

●●●

●

●●●

●

●

●●●●

●

●● ●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●●●●●

●

●

●

●

●

●

●

●●●●●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

● ●

●

●

●●●● ●●●●●●

●

●●●●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●●

●

●

●

●●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●
●

●

●●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

0 5 10 15

0
5

10
15

Comparison of expression values for a pair of replicates

FPKM (UHR, Replicate 1)

F
P

K
M

 (
U

H
R

, R
ep

lic
at

e 
2)

R squared = 0.995



0 5 10 15

0
5

10
15

Comparison of expression values for a pair of replicates

FPKM (UHR, Replicate 1)

F
P

K
M

 (
U

H
R

, R
ep

lic
at

e 
2)



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

● ● ●●

●

●

●

●

●

●

●

●

●

●

●

●

● ●●

●

●

●

●

●

●

●●

●

●

●●●

●

●

●

●

●
●

●

●

●

●

●

● ●●

●

●

●

●

●

●

●●● ●●●

●

●

●

●

●

●● ●●

●

● ●●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●
●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●●

●

●

●

●●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●●● ●

●

●

●

●

●

●

●

●

●

●●●●●●●●●●

●

●●●●●●

●

●

●●●

●

●

●

●

●

●

●

●

●

●●●●●

●

●

●

●

●●●●● ●●●●● ●

●

●●● ●

●

●●●●●●

●

●●●●●●●●●●● ●●●● ●●●●●● ●●●●●●●●

●

●

●

● ●●●● ●● ●●●●●● ●●

●

●●●●

●

●

●

●●●

●

●●

●

●

●●●●●●●●

●

●●●●●●●●

●

●

●●●

●

● ●

●

●

●●●●●●●●●●●●● ●●●●●

●

●●

●

●●

●

●●●●●

●

●●●●●●●●●●●●●●●●●●●

●

● ●

●

● ●●●●●●●●

●

●●●●

●

●●●●

●

●

●●●●

●

●●●●● ●●●●●●● ●●

●

●●●

●

●●●● ●● ●● ●●●

●

●●●

●

●

●●●●●●

●

●●●●●●●●●●●●●●●●

●

●●●

●

●● ●●●●●●●●●

●

●●●

●

●●●

●

●●●

●

●●●

●

●●●●●● ●●●●●

●

●●●●●●●●●●●●●●●●●

●

●●●● ●●●●● ●

●

●

●

● ●●●● ●●●●●●●●●● ●●●● ●● ●●●●●●●

●

●● ●●●●●

●

●

●

●●●

●

●

●

●●●●●●●●

●

●

●

●

●

●●

●

●●●●

●

●

●●●●●●●●●●●●●●●● ●●●●●

●

●●●

●

●●●●

●

●●●●●●●●

●

●●

●

●●●

●

●

●● ●●●●

●

●●●●●●●●

●

●

●

●●●●●

●

●

●●●●

●

●

●

●

●

●

●

●●● ●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●●

●

●

●

●

●

●

●● ●●

●

●●●●●

●

●●● ●●

●

●

●●

●

●●●●●●●●●●●●●●●●●●●●

●

●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●

●

●●●●●●●●

●

●

●

●

●

●

● ●●●●

●

●

●

●●

●
●

●●

●

●● ●●●● ●●●

●

●● ●● ●●●● ●

●

●●●

●

● ●●

●

●

●

●●

●

●●●

●

●

●● ●●

●

●

●

●● ●●

●

●

●

●

●

●

●

●

●

●● ●

●

●

●

●

●

●

●

●

●

● ●

●

●

●● ●

●

●●●●●●

●

●●●●●●

●

●

●

●●

●

●

●●●

●

●●

●

●●●●●●●

●

●●

●

●

●

●● ●●●●●

●

● ●●●●●

●

●

●

●

●●

●

●●●●

●

●

●

●●●●

●

●

●

●

●

●

●

●●● ●●● ●

●

●●

●

●●●

●

●

●●● ●●●●●●●●●●●● ●

●

●

●

●

●

●●●●●●●●●

●

●●●

●

●●

●

●●

●

● ●●

●

●

●

●

●

●

● ●● ●

●

●

●●●● ●●●●●●

●

●

●

●●

●

●

●

●

●

● ●

●

●●

●

●

●

●

●

●●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

0 5 10 15

0
5

10
15

UHR_1 vs HBR_1

FPKM.UHR_Rep1

F
P

K
M

.H
B

R
_R

ep
1

R squared = 0.676
Zero count = 1603

●

●

●

●●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●
●

●

●

●

●●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

● ●●

●

●

●

●
●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

● ●●

●

●
●

●

●

●

●● ●●●●

●

●

●

●

●

● ● ●●

●

● ●●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

● ●

●

●

●

●●

●

●

●

●●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●●● ●

●

●

●

●

●

●

●

●

●●●●●

●

●●●●●●● ●●●●●

●

●

●

●●●

●

●

●

●

●

●

●

●

●

●●●●

●

●

●

●

●●●●●●●●●●●

●

●

●

●

●

●●●●●●●

●

●

●

●●●●●●●●●●●●● ●●● ●●● ●●●●●●●● ●● ●● ●● ●●

●

● ●●●●●● ●●

●

●●●●

●

●

●

●

●●

●

●●

●

●

●● ●●●●●● ●●●●●

●

●

●● ●

●

●●●

●

●●

●

●

● ●●●●●

●

●●●●

●

●●

●

●●●●●●

●

●●

●

●

●●●●

●

●● ●● ●●●●●●

●

●●●● ●●●●

●

●●

●

●●

●

●●●●●●

●

●●●

●

●

●●●●

●

●

●●●●

●

●●●● ●●●●●●●●

●

●●● ●●

●

●

●

●●

●

●●●●●●

●

●●●

●

●

●●●●●●

●

●● ●●●

●

●●●

●

●●●●●

●

●●●●

●

●●●● ●● ● ●●●●

●

●●●

●

●●●

●

●●●

●

●●● ●●●●●●●

●

●● ●●

●

●

●

●●●●●●●●●●●●●●●

●

●●●●●●●●● ●

●

●●●●●●●●●●●●●●●●●●●●● ●● ●● ●●●●●

●

●●● ●●

●

●

●

●

●

●●● ●●

●

●●●●●●● ●

●

●●

●

●

●● ●●●●●

●

●

●

●

●●●●● ●●●●●●●●●

●

●●●●

●

●

●

●

●

●●●●

●

●●●●● ●● ●

●

●●

●

●●● ●

●

●●●● ● ●

●

●●●●●●●●

●

●

●

●●

●

●●

●

●

●●● ●●●

●

●

●

●

●●●● ●

●

●

●

●
●

●

●

●

●

●

●

●

●● ●●

●

●●

●

●

●

●
●

● ●●

●

●

●

●

●●●●●●●●●●

●

●

●

●

●

●●●●●●●●● ●●●●●●●●●● ●

●

●●●●●●●●●●●● ●●●●●●●●●●●●●●●●●●●●●●

●

●● ●●

●

●●

●

●

●

●

●

●

●

●

●

●●●●

●

●●●● ●●●

●

●● ●●●● ●●●

●

●●

●

●

●

●●● ●

●

●

● ● ●●

●

●

●

●

●

●

●

●

●

●● ●

●

●

● ●

●

●

●

●

●●●●

●

●

●

●

●

●

●

●

●

● ●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●● ●

●

●●

●

●● ●

●

●●●●●●

●

● ●●●

●

●

●● ●

●

●●

●

●●●●●●●

●

●●

●

●

●

●●

●

●●● ●

●

●

●

●●●●

●

●

●

●

●●

●

●● ●

●

●

●

●

●●●●

●

●●● ● ●

●

●●● ●●●●

●

●●

●

● ●●

●

●

●

● ●● ●●● ●●●●●●●● ●

●

●

●

●

●

●●●●●●

●

●●

●

●

●●

●

● ●

●

●●

●

● ●●

●

●

●

●

●

●

● ●●

●

●

●

●●●●●●●●●●

●
●

●●●

●

●

●

●

●

● ●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

●● ●

●

●

●

● ●

●

●●

●

●

●

●

●

●

●

●

●

●

0 5 10 15

0
5

10
15

UHR_2 vs HBR_2

FPKM.UHR_Rep2

F
P

K
M

.H
B

R
_R

ep
2

R squared = 0.708
Zero count = 1530



0 5 10 15

0
5

10
15

UHR_1 vs HBR_1

FPKM.UHR_Rep1

F
P

K
M

.H
B

R
_R

ep
1

R squared = 0.676
Zero count = 1603

0 5 10 15

0
5

10
15

UHR_2 vs HBR_2

FPKM.UHR_Rep2

F
P

K
M

.H
B

R
_R

ep
2

R squared = 0.708
Zero count = 1530



−0.10 −0.05 0.00 0.05 0.10

−
0.

10
−

0.
05

0.
00

0.
05

0.
10

MDS distance plot (all non−zero genes)

●
●

●
●

●
●UHR_1

UHR_2
UHR_3

HBR_1
HBR_2

HBR_3



Distribution of differential expression values

log2(Fold change) UHR vs HBR

F
re

qu
en

cy

−5 0 5 10

0
5

10
15

20
25

30

Fold−change > 4



●

●

●

●●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●
●

●

●

●

●

●

●
●

●

●

●

●

●

●
●

●

●

●

●

●

● ●●

●

●

●

●

●

●

●● ●●●●

●

●

●

●

●

● ● ●●

●

● ●●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

● ●

●

●

●

●●

●

●

●

●●

●

●

●

●

●●

●

●

●

●

●

●

●

●

● ●●

●

●

●

●

●

●

●

●

●

●

●●●●

●

●●●● ●

●

● ●●●●●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●●●●

●

●

●

●

●●●●● ●●●●● ●

●

●

●

●

●

●

●●●●●●

●

●

●

●●●●●●●●● ●●●● ●●● ●●● ●●●●●●●●

●

●

●

● ●● ●●

●

● ●●●●●● ●●

●

●●●●

●

●

●

●

●●

●

●●

●

●

●● ●●●●●●

●

●

●

●●

●

●

●●

●

●

●●●

●

●

●

●

●

● ●●●●●

●

●●●●

●

● ●

●

●●●

●

●●

●

●●

●

●

●●●●

●

●● ●

●

●●●● ●●

●

●●●● ●●●●

●

● ●

●

● ●

●

●●●●●●

●

●●●

●

●

●●●●

●

●

●●● ●

●

●●●● ● ●●●●●●●

●

●

●

● ●●

●

●

●

●●

●

● ●● ●●●

●

●●●

●

●

●●●●●●

●

●● ●

●

●

●

●●●

●

●●●●●

●

●

●●●

●

●● ● ●

●

● ● ●●●●

●

●●●

●

●●●

●

●●●

●

●●●

●

●●●●●●

●

●● ●●

●

●

●

●●●● ●●●●●●●●●●●

●

●●●● ●●●●●

●

●

●

●

● ● ●●● ●●●●●●●●●● ●● ●●

●

● ●● ●●●●●

●

●● ●●●

●

●

●

●

●

●●●

●

●

●

●●●●●●● ●

●

●

●

●

●

●●

●

●●● ●

●

●

●

●

●●●●● ●●●●●●●●●

●

●●●●

●

●

●

●

●

●●●●

●

●●●●● ●● ●

●

●●

●

●●●

●

●

●●

●

● ● ●

●

●●●●●●●●

●

●

●

●●

●

●●

●

●

●●● ●

●

●

●

●

●

●●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●●

●

●
●

●

●

●

●●

●

●

●●

●●●●

●

●●● ●●

●

●

●

●

●

●●●●●●●●● ●●●●●●●●●● ●

●

●●●●●●●●●●●● ●●●●●●●●●●●●●●● ●●●●●●●

●

●● ●●

●

●●

●

●

●

●

●

●

●

●

●

●●●

●

●

●

●●

●
●

●●

●

●●

●

●●● ●●●

●

●

●

●

●

●

●●●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

● ●

●

●

●

●

●● ●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●● ●

●

●

●

●

●● ●

●

● ●●●●●

●

●

●

●●

●

●

●● ●

●

●●

●

●●●●●●●

●

●●

●

●

●

●●

●

●●● ●

●

●

●

●●●●

●

●

●

●

●●

●

●● ●

●

●

●

●

●●●●

●

●

●

●

●

●

●

●●● ●●● ●

●

●●

●

● ●●

●

●

●

● ● ●●●● ●●●●●●●● ●

●

●

●

●

●

●●●●●●

●

●●

●

●

●●

●

● ●

●

●●

●

● ●●

●

●

●

●

●

●

●

●

●

●

●

●

●●●● ●●●●● ●

●
●

●

●●

●

●

●

●

●

● ●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

0 5 10 15

0
5

10
15

UHR vs HBR FPKMs

UHR FPKM (log2)

H
B

R
 F

P
K

M
 (

lo
g2

)

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

● ●

●
●

●●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●● ●●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●
●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

● Significant

M
LC

1

TNRC6B

GRAP2

DESI1

GTSE1

HM
OX1

DERL3

GSTT2BSLC
2A

11

GGT5

SEC14
L2

SH3B
P1

RP1−
37

E16
.1

2

HSCB

SBF1

CERK

COX6B
1P

3 RIB
C2

TCF20

CYTH4

SEPT3

CSDC2

AC00
81

32
.1

5

CELS
R1

DDX17



F
P

K
M

.H
B

R
_R

ep
1

F
P

K
M

.H
B

R
_R

ep
3

F
P

K
M

.H
B

R
_R

ep
2

F
P

K
M

.U
H

R
_R

ep
2

F
P

K
M

.U
H

R
_R

ep
1

F
P

K
M

.U
H

R
_R

ep
3

ERCC−00004ERCC−00046ERCC−00113ERCC−00130ERCC−00096ERCC−00002ERCC−00074IGLC3IGLC2TMEM191CPOM121L9PLL22NC03−86G7.1TTC28−AS1_3LINC01310ERCC−00168RP4−756G23.5ZDHHC8P1PNPLA5ELFN2RSPH14RP1−293L6.1EFCAB6MIAT_exon5_1RP3−333H23.9RP3−402G11.25INPP5JAIFM3SYN3PANX2NDUFA6−AS1CPSF1P1ELFN2CECR6EMID1LINC01521AC006946.16MIAT_exon5_3MIR4534CTA−390C10.10XXbac−B476C20.14RAB36SSTR3SLC35E4TTC28−AS1SLC2A11LRRC75BDGCR5SHISA8GAL3ST1CABP7SGSM1KCNJ4RP3−402G11.26DGCR9RP4−669P10.20DGCR5RFPL1SCSDC2TUBA8RP4−539M6.20MCHR1AC000095.12CLDN5CHADLSLC25A18RP5−1119A7.17MPPED1RASL10ASLC7A4RP6−109B7.5LINC00634AC000095.11CACNA1ICACNG2RP4−569D19.5RP3−508I15.22Z83851.4RP3−508I15.14RP3−370M22.8RP3−412A9.17RP1−101G11.3XXbac−B476C20.10SMC1BCTA−246H3.12RIMBP3BRIMBP3CRP4−671O14.6MIR6819CTA−292E10.8MMP11RP1−29C18.8GRAP2POTEHRP1−29C18.9LINC01399COX7BP1OGFRP1CTA−989H11.1LINC00528CITF22−49E9.3LA16c−3G11.7KB−1440D3.14TBX1RN7SL20PAPOBEC3FC22orf34AP000347.4KB−1440D3.13MYO18BZNF280AADM2BIKAPOBEC3DPLA2G3MBIGLC1PRAMEIGLV2−14CSF2RBCARD10SERPIND1LL22NC03−N64E9.1CHEK2CENPMGTSE1APOBEC3BIGLC7CELSR1DUXAP8PCAT14IGLV2−23KDELR3CDC45DUXAP8LIFAPOBEC3CARHGAP8APOBEC3GRPL4P6TPTEP1PNPLA3C1QTNF6ERCC−00170HMGB1P10USP18MFNGGGT1KRT18P5AP000350.5TOP3BP1RP11−191L9.4CLTCL1SH3BP1ERCC−00136ERCC−00043ERCC−00003ERCC−00009ERCC−00042ERCC−00111ERCC−00145YWHAHERCC−00022ERCC−00076ERCC−00112RPL3ERCC−00108ERCC−00060XRCC6MIFATF4XBP1EIF3DERCC−00131TIMP3CRKLERCC−00044EIF3LST13LGALS1ERCC−00116MYH9ERCC−00092ERCC−00095MAPK8IP2SULT4A1MLC1SEZ6LMIATFAM19A5CBX7SHANK3SEPT5PVALBSYNGR1SEPT3NPTXRTEFNEFHGNAZPI4KACBX6SREBF2MAPK1PDXPATP6V1E1ACO2SNRPD3DRG1RTCBPIM3NCAPH2TOMM22TUG1EWSR1CSNK1ESLC25A1RANBP1NUP50LMF2DDTTTLL12MRPL40PES1CCDC117ARFGAP3GRK3PISDTNRC6BKIAA0930KIAA1644SGSM3SOX10TMEM184BTUBGCP6CERKSUN2RBFOX2SBF1ERCC−00078ZC3H7BDGCR2TOB2AP1B1DESI1PPP6R2LDOC1LAPOL2ATXN10DENND6BKCTD17ASPHD2RTN4RRASD2YPEL1SELMKIAA1671SFI1RABL2BDGCR6PRODHSEC14L2MIR3619RPL23AP82MIRLET7BHGGAS2L1CTA−384D8.36LARGE1ARVCFMAPK11PIK3IP1MKL1POLR3HARSAMICAL3SMDT1OSBP2PICK1KLHL22ZNRF3EIF4ENIF1TOM1RAC2MCM5TSPOERCC−00062XPNPEP3SMTNTRIOBPFAM118ACRYBB2P1TPST2HIC2TCN2PPARAZNF74MPSTMAFFMN1FBLN1ADSLCECR5TOP3BHMOX1TRABDTTC38APOL6ASCC2UFD1LZBED4NAGATSTTRMT2APATZ1SLC25A17SAMM50RHBDD3DGCR8MED15SNAP29

sig DE Transcripts

0 5 10 15

Value

Color Key


